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) Test of Quantitative Techniques ;)f Management

Level: B.T.S : Commercial Action Lasted:04hours

N.B.:File 1, 2 and 3 are ﬂependent.
You are recruiting as commercial analyst i a company of great distribution hiy
multiple branches, "Dovv-distribution" This structure has supermarkets in the majority of the

large cities of the country and marketsespecially the fnodsnri;ﬁs.Ilsrcgistcrcd office is in

Yaounde, 4

-distribution, charges youwithstudying the [ileg
relating to ghe anelysisof:profitability, of the sales an the provisioning and iny
FILE 1:Analyze profitability

Mr WANMEGNE, manager of Doyv

.

entory contral,

Dovv- DISTRIBUTION has five (05) supermarkets il the town of Yaounde, Dougla. and
Edéa.[nformatiomclating to the activity of these five supermarketsin 2004 jsgathered iy
appendix ]. ‘
Work to be made: ®
1.1)  What a supermarket in the traditional design?
1.2)  Which are the fundamentalcharacteristics of the sales points of the more share of the
~ productsdistributed in the supermarkets?
1.3)  Caleulate for each of the 5 supermarkets:
) The annual sales turnover per m?2 and ray. .
b) The sales turnover by employee,
@)+ The sales turnover by case.
d) The average sales turhover by carriage.
L.4)  Calculate for supermarket a;
a) The sales turnover per m2 and ray.
b) The sales furnover by employee for

cachknowing  ray

ﬂmﬂhissupemlarketcmployment 6  cashiers, 5 operations  and (]

affectedDirectorwith the TaySs in proportion (o their sa
. FILE 2: Analyze sales
The customers of Doyy-

les turnover (sceappendix 2)

distribution are made up mainly of the retailerswhobuyat the
wholesaleprice, and of the consumerswhobuyat the rctaifprice.

Supermarket A based in ths.-.‘ shopping centre of Yaoundecounts 25 principal

retaﬂcrswithwhichlhcreexistpn'vilcgbdralalionship.Thepurchasescarried out by

theseretailersinto 2005 are contaj ned in appendix 3.
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Worl to be made:
2,1) In youreferentwithappendix 3, analyze the sales by the method ARC.

2.2) Plot the Lorenz curve,

2.3) Comment on the resultobtainedwhileraising the interest of the method ABC for

management of the customers.

FILX Jilrovisioning and inventory control
The problem of inventory control of meatgoeswithacuity in supermarket A, becausge of

the loss of savou undergone by the meat, whenitremainstoo a long time in stock.

This management isentrusted to you to apply the method of the simple batch (m_éthod'

of Wilson), ; o
Knowingthat stock atlanuary 1, 2005 is 2500 kg, !hismeatissoldwithsupcnna:két A
ataprivilegedprice of 500 FCFA.Theownershipcostis 1% of averagestock.Thcprocureménl

lead time is 30 days.(seeappendix 4 for all the data), and that the cost of making of an orderis
of 5000 FCFA.

Work to be made:

3.1) Caleulate for the year the 2005 number of orders and to deduce the economic batch
fromit.
3.2) the Gompanydecides to order variable quantitiesregularly;todraw up the table of

management of the provisioning.(One wishes an ending book inventoryavailable to the
30712/2005 of 2500 kgy

3.3) Represent the graph in teeth of saw for the first § months of the year,

34) Made the chart of cumulatedconsumption, the openinginventory and the
cumulateddeliveries.

File 4:Optimization of manufacture
An industrialcompany manufactures parts.The total cost of manufacture according to
the number of abject X is of:
C(x)=200 + 100x- 0,012
Work to be made:
1)-a- To give the cost of 1000 coins and 1001 coins,
B In deducing the increasefrom the cost entraing by the manufacture of this part,
2) To express according to X, the manufactutingeost Clet1)-Clx)sice. increase in the

costeorresponding to the manufacture of an additionalpart Knowingthat one manufactured X
parts,




J
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3) To calculate 1t (x) or indicatesitderivedfrom the funetion €, Appendix 3:5° o tufnovers realized by the vetuilerswithsupermarket A
. 4) Inpractice, one takes It (x) like value of the marginal cost (o row X Retallers 3 o] ﬁc;hlhly sales turnover | Retailers Momhly siles tumover—|
| . (in FCEA) (in FCFA)
i a) Whichis the madft error? . W T 000 14 950 000
: | b) To check thisresult by taking It (1000) with the responsefonnd (o the (b) , Rl 15 500 000 15 850 000
3 . 15 500 000 16 700 000
i Appendix 1:information general on five marketsin 2004 - el ; - ) : re— ;5; igg ggg 1; ggg ggg ‘
‘ Superma | Annual saIe:s | Surfaces of sale (in | Personnel | A number of | A 6_ — 3500 000 T 500 000 e 1) [
| ket ;uénovcr (in 106 m2) employ€d cmuuy,l:mmc'd mfmhcz ~?+ g T 7500 000 30 300 000 :
: FA) sper annum (in - | of cosey TR 27200 000 71 775 000
X : 7L ) T 2,600 000 % 235 000
4 Food Nonfood | Food Nonfood WMo 1800 000 23 200 000
rays rays rays rays . i . g 1 700 000 24 150 000
| With 34 6 200 80 24 250 6 (DS 1600 000 25 100 000
i ‘B 30 10 150 50 15 270 A [t 1400 000
| [€ 34 9 200 75 20 40 )
t |D 40 10 250 73 24 370 T :
E 35 g 175 25 16 260 B A 4 Appendix 4:Forecasts of the sales of meatsin 2005 (in kg) " ‘
: o J ¥ M With |[M ~ {J J (0] 8 O [N D '
Appendix 2:Information on the supermarket Consumption 1500 | 2000 | 2500 | 3500 | 4000 | 6500 | 8500 | 9000 | 6500 SDQO 2000 | 1000
| Buichery Fruit and Dairy Grocer Rays Strategic stoek 150 1200 | 250 | 350 |400 |650 |850 | 900 |650 |300 [200 | 100
g vegetables ‘ nonfood
% of the 8% - 12% 20% 45% 15%
annual sales
turnover . i .
Surface (in | 30 25 25 120 80 -3 -
m2) ' ; A
Personnel of | 5 3 2 . 1 1 i
the ray ' |
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